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1. A 1Literrigid gas cylinder with a pressure of 1.00 atm has its temperature increased
from %F%K to 398K. What is the new pressure? : -
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5. A balloon with a volume of 1 liter at room temperature (25°C) is decreased to -175°C.
What is the new volume? Vi T,=29 sl , =49&|
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3. A SJL weather balloon rises up into the air where the pressure has dropped from 1 atm to
.75 atm. What is the new volup;e? o i e dbia )
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4, A 2L rigid container at 1 atm is heated from 25°C to SOOBC;Vhat is the new pressure

inside the container? © 298K LTI
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5. A rigid container has a temperature at QDC;‘ is increased to 25°C. If the original pressure

was 600 torr what is the new pressure? — LRI
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6. Whattemperature-will cause a 1 gallon balloon, at STP, to be compressed to 1L. (STP =
1am&00) V= | Gollon =3,37L
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21 \=? 7. A balloon has a volume of 2L at STP. The balloon is released and floats up

/! - f‘? ) i *_ into the atmosphere causing the temperature drop by 35°C and the pressure
[FLHIAC 1T 7 25 10 620mmHg. What is the new volume?
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o We 8 A 5L bottle of soda with a pressure of 1.5atm will explode at § atm. If the bottle starts at
23°C, what temperature will it explode at? | & 1) fepp ot | "
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k\;‘ k \\2) Two balloons at STP, one Carbon dioxide and one He have a volume of 1.23L. What
‘&QJ\:\‘ \\l" properties, if any will be different between the two balloons? < i
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PV =nRT

1. Determine thel number of moles present in a red balloon that has a volume of 1.5L
at STPH I A7) 'i:/\m - f.-t)’:-‘/ = fi{;’} j’v’(—{’}"rj W 15 :__
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2 What is the temperature of a sample of air that has a pressure of 1.5 atm, moles =
05 and a volume of 1.1 L.
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3. If a balloon has a temperature of 298K and a volume of 1.98L, what is the
pressule if the balloon contains 1 mole of gas?
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4 A balloon filled with He has a volume of 250mL at STP is what is thé"ﬁ;a_éﬁs' of the
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5. A 1500mL rigid contamer contams .75 moles of N2 at 23 °C. What is the pressure -
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6. What is the pressure in mmHg ofal gallon rigid container with a temperature of

212 F and 4 grams of helium? /740 °
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7. A clown puts 15 grams of Nitrogen in a balloon at STP. What is the volume of

the balloon? ‘ N 4 . N\ a AF2| ot
T 1 | TP e ‘v["'.'f' & (DS Y }| W0 &= ahiEL &
L \&F = {)ﬂiv“'\‘u‘f"\ e S i WY
] /
1

5

8. An empty pop wwe has a volume of 591ml. Assuming the bottle i is filled wit
only nitrogen, what 1s the mass of the air in the bottle at STP?
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Name
Chemistry
IDEAL GASLAW A
Combined Gas F.aw
PV = nRT PVy/T, = P/ T
| T =Kelvin

What is the difference between an Ideal gas and a non-ideal gas?
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3. The combined gas law is simply the combination the these tknee f%as laws? . ¢
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4. ‘What s the ideal gas law? ;D\f Em T

5. {A ﬂﬁgsk contains Oy, first at stp and then at 100°C. What is the pressure at 100°C.
ST =212 Tp=373 :
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6. Aerosol containers often carry the warning that they should not be heated. Suppose such a container.
were filled with a gas at 2.5 atm and 22°C, and suppose that the cortainer may rupture if the pressure
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exceeds 8.0 atm. At what temperature is the rupture likely to occur. T T g i
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7 Ris called the unjversal gas constant. It has a value of 08206(Latm/molK) 5;; -
What is the pressure exerted by 0.508 mol O, ina 15.0L container at 303K7 *
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3. What is the volume occupied by 16.0g ethane gas (C,Hy) at 720 torr (760 T = latm) at 18°C? & %5 = ¢ t
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g7 What is the temperature, in degrees Celsius, at which 15.0g O, will exext a pressure of 785 Torr ina
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10. Calculation of Molecular mass or molar mass. Other wise known as the mass (g)/ fﬁ%fé. Calbu&ﬁé éfé) T =
m‘o}e?}lla{li%g(ass of a gas if 0.550g of the gas occupies 0.200L at 0.968 atm at 298K,
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1%, The cggﬂent arose one day “sc’"iengc::fe has nothing to do with my %ife”. The student, in the next desk

over, replied “your breathing aren’t you?”. With that said, your diaphragm, a muscle just below your
hings contracts and expands with every breath. Explain how this works, and which of out three basic

laws explains this?




